1. Runde

Gunter Schmid - Benedikt Schmid
Bernd Schmid — Josef Meggle
Jonas Gorl — Jonas Buchholz

2. Runde

Josef Meggle - Glinter Schmid
Benedikt Schmid — Jonas Gorl
Jonas Buchholz — Bernd Schmid

3. Runde
Bernd Schmid - Benedikt Schmid

AR

Glinter Schmid — Jonas Gorl

1-0 Josef Meggle - Jonas Buchholz
1-0
1-0 4. Runde
Jonas Buchholz - Gilinter Schmid
Jonas Gorl — Bernd Schmid
1-0 Benedikt Schmid - Josef Meggle
1-0
0-1 5. Runde
Gunter Schmid — Bernd Schmid
Jonas Buchholz - Benedikt Schmid
1-0 Josef Meggle — Jonas Gorl
Nr. Name 1| 2 3 4 | 5 6 | Punkte | Rang
1 Gunter Schmid | xxx| 0 1 1 1 1 4 1.-2.
2 Josef Meggle 1 |xxx| O 0] 0 1 2 3.-5.
3 Benedikt Schmid | 0 1 [ xxx| O 0 1 2 3.-5.
4 Jonas Buchholz 0 1 1 |[xxx| O 0 2 3.-5.
5 Bernd Schmid 0 1 1 1 [xxx| 1 4 1.-2.
6 Jonas Gorl 0 0 0 1 0 | xxx 1 6.
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